
         

 

 

 

 

 

 

 

 

 

 

 

 

 Scenario: You are the pink bowls  

You are playing in a Pennant Game (3 rinks) and are approx. half way through (35 ends played) 

You are leading 13-7 and have played 11 ends on your rink. 

You are leading the overall aggregate by 3 with one rink down and the other equal. 

You are currently 2 down and calling your second on his 2nd Bowl. His first is the bowl on the right 

A light gusty breeze is blowing across the green from right to left as we are looking at it. 

The green is running approx. 14 seconds and is reasonably wide for the pace 

The backhand (right handers) is slightly narrower but still drawing well although it does have a couple of 

tricks.  

 


